TUBELITE INC.

MONUMENTAL ENTRANCE SERIES
ALUMINUM OUT-SWING DOOR

THESE DOORS ARE RATED FOR LARGE & SMALL MISSILE IMPACT.
SHUTTERS ARE NOT REQUIRED.

MONUMENTAL
ALUMINUM OUT-SWING ENTRANCE DOOR

SEE SHEET 2 FOR DESIGN LOAD CAPACITY OF SINGLE AND
DOUBLE DOORS.

DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER
INFILTRATION RESISTANCE IS REQUIRED.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2018 INTERNATIONAL RESIDENTIAL CODE (IRC) AND
2018 INTERNATIONAL BUILDING CODE (IBC).

1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT LOADS
TO THE BUILDING STRUCTURE.

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF’S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.

ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE INTERNATIONAL BUILDING CODE.

THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR
WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

DESIGN LOADS SHOWN ARE BASED ON ‘ALLOWABLE STRESS DESIGN (ASD)’.

MANUFACTURER’S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTIONS R613.4 AND R613.7.1 OF THE IRC AND
SECTION 1714.5.1 OF THE IBC.

NOTE:
GLASS CAPACITIES ARE
BASED ON ASTM E1300-09 (3 SEC. GUSTS).

12/17/2020

s |
(C.A.N. 3538) fc
COMP—ANL\ 19—-92T~TLI)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

N.W., Suite G

Fax.

INC.
5056 Walker Ridge Dr.

Walker, Ml 49544
800-866—2227

Tel.

TUBELITE

J((MONUMENTAL ALUMINUM OUTSWING DOOR (LM..))( AL-FAROOQ CORPORATION

REV. PER TDI COMMENTS

byTdescription

(revisions:
no| date
A |10.27.20

08-22-19

o
2
=
>
a

“
°

daote:
scale: —
chk. by:

drawing no.

19—-92T




GLASS D.L.O. FORMULAE:

D.L.O. WIDTH =

D.L.O. HEIGHT

LEAF HEIGHT
LEAF HEIGHT

DOOR LEAF WIDTH (X DOORS)

DOOR LEAF WIDTH (XX DOORS)

DOOR LEAF HEIGHT

non

53" (STD. JAMBS)
49-1/2” (NARROW JAMBS)

98 1/2" (STD. HEAD)
96 3/4” (NARROW HEAD)

1017 (STD.

JAMBS)

97-1/2" (NARROW JAMBS)

LEAF WIDTH — 11.438” (MEDIUM STILES)
LEAF WIDTH — 14.438” (WIDE STILES)

FRAME HEIGHT — 3.062” (STD. HEAD)

FRAME WIDTH FRAME WIDTH
18" HEAD ANCHORS 18"
. 6) AT STILE EN
6 1/2" MAX. X 6 1/2" MAX. (6) AT STLE, Of\ MAX.
HEAD/SILL @ SILL HEAD/SILL @ - SILL
CORNERS I CORNERS \l\
J
4 : /l/
L - L 4
|
i
/ | AN
! AN
—4 : —_— — N 4
I AN
| ® \
®) e \
AR [mn _ =7 - N 1+
= | 2 = N
= | 2 Eh S/ N
E o ] . { I E m . // \
5 .|z «8le i |1 miD RAL 2E . |f salg _L " -
W 9o Y=z 7 iI| > OPTIONAL cExiW ©E Y¥Ei0 .
T | =~ | nE|T NG =~
~N T N 3 o< ~N T . _i
N AR = AT N A8 = 4
< W0 = _ N, 2w -
ESE e == S S S p
M
Ro ey & o R 4
—— | o —— // —t——
| H H
|8 / NI
I —<= / 3|2
RS / =S
J—— : —t— i B / ——
I /
|
i
£ t AcTvE N L 7 aemve __#g
| | I ) T i ~
2w . 2w
SURFACE APPLIED 3| & SURFACE APPLIED S| &
FALSE MUNTINS : gg FALSE MUNTINS (SlliLA?'N(S:gEERSENDS - E%
MAY BE USED < ﬁé MAY BE USED 5T 4" oc. N ng
['e)] un
36 3/8” (MED. STILES) 36 3/8" (MED. STILES) 36 3/8” (MED. STILES)
33 3/8" (WIDE STILES) 33 3/8” (WIDE STILES) 33 3/8” (WIDE STILES)
D.L. OPG. D.L. OPG. D.L. OPG.
47 13/16" 47 13/18" 47 13/18"
LEAF WIDTH LEAF WIDTH LEAF WIDTH
TYPICAL ELEVATIONS
SINGLE DOORS LOAD CAPACITY — PSF DOUBLE DOORS LOAD CAPACITY - PSF
DOOR OPNG. DIMS. LEAF DIMS. DOOR OPNG. DIMS. LEAF DIMS.
WIDTH | HEIGHT | WIDTH heiGHT | EXT-(+) | INT.(=) WIDTH | HEIGHT | WIDTH EGHT | EXT-(+) | INT.(=)
48" 96” |47-13/18" 95-7/16" | 700 | 70.0 96" 96” |47-13/16" 95-7/16" | 70.0 70.0
37-1/2" | 108" *| 37-5/16" | 107-7/16"| 66.0 | 66.0 75" 108" *¥| 37-5/16"| 107-7/16"| 66.0 66.0
*
LIMIT THESE SIZES TO DOORS GLAZED WITH DOWSIL 995 ONLY.
17" (MEDIUM STILES)
— 18.50” (WIDE STILES)
FRAME WIDTH — 5.187” (STD. JAMBS)
FRAME WIDTH — 1.687” (NARROW JAMBS)
FRAME WIDTH — 5.375" (STD. JAMBS)
FRAME WIDTH — 1.875" (NARROW JAMBS) NOTE:
GLASS CAPACITIES ARE \ \\\
" - WS/ONAL s
FRAME HEIGHT — 1.3125" (NARROW HEAD) BASED ON ASTM E1300-09 (3 SEC. GUSTS). 12/17/2020 \\\Q\Nﬁk\‘é

o

a

=
Z 3
Qr 93
- mz
=
€z 39
o &
Eooc o
OUJQ 2
Loy %
o uw
3
OGapr
OZuk
pur
0z
OFE® S
°n.ogvi
O%Lz <
g‘:’z"éﬁg
W o i
L%m;g
t S0 0
=084
€503 &
—/
~
=
= o
o o)
S =
S 5
o wn
Q -
gl =
2] I
o
3l & ¢
a
=1
2|0 =3
S|Zaxw §
- [o2 2PN
S e
<|—52$
=ll— 2 o0
Zlld= .
s 58
Dmg_\zw
ZID 330 =
LF™m=E &
e e
[
2
3
L&
[ -
O
[73]
[0
o
>
Re}
"
clio
Olo
R24iel
>
[0liKe)
:;C

08~22-19

date:

drawing no.

f
C

COMP—ANL\19-92T—TLI)

N
Q
R
-
X
N
~N
-
P
o
Q
@

dr. by: TARIQ

chk. by:

19-92T




" , \=)
1/4” HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS 1/4" HEAT STREN'D. GLASS U e
h |
.090” Interlayer .090" Interlayer m o
Saflex Clear And Color Glass Saflex Clear And Color Glass \ 0!j
.090” Interlayer g)'; ’Eastman Chemical Co. g)é 'Eastman Chemical Co.’ - 0|2
SentryGlas N I~
1/4" HEAT STREN’D. GLASS By ‘Kuraray America, Inc.’ SQQOt ér'aterlayer .809(2" Ci;r[mterioyer *] 5 3 $ =
OR entryGlas entryGlas o o<
" .075" Interlayer By ‘Kuraray America, Inc.’ By ‘Kuraray America, Inc.’ E g 2 & D’_
035" Interlayer Saflex CP With PET Core OR OR g3 Ig|3
SentryGlas ) , By 'Eastman Chemical Co.’ .075" Interlayer .075" Interlayer S =8 3
By Kuraray America, Inc. Saflex CP With PET Core Saflex CP With PET Core o oy =
By 'Eastman Chemical Co.’ By 'Eastman Chemical Co.’ & g B %
'Y
1/4” HEAT STREN'D. GLASS e , ) , ) , GEZam
/4" HEAT STREN'D. GLASS 1/4" HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS 0 g 0
o o o o Auiv
= (o= FlE (0 cl (0 _SILICONE 028 o
. |@ . o . o . lm DOWSIL 995 o g g < 3
z z z z _ <
=3 2|3 2|5 =3 O2LE 3
2|9 1S 215 L5 AN Feoo §
NGIS) J|o J o NG xzad
= " 9 " E o ? b 8
1 : : (19) FrZoS 9
[ [ I \ - 982
: LLos
; « 3 = -
Q Q o o R
& 4 g \ g\ / -
: c : =
i i G N b N yz = &)
~ — [ )]
L3 3 ¢ s ¢ 3 o :‘:J
GLASS TYPE ‘C’ GLASS TYPE D GLASS TYPE D1 GLASS TYPE D2 K A
9/16” OVERALL LAM. GLASS 9/16” OVERALL LAM. GLASS 9/16" OVERALL LAM. GLASS 9/16" OVERALL LAM. GLASS % -
= =
% =z 5
[y [S)
3| s ¢
3/16" TEMP. GLASS 3/16” TEMP. GLASS 3/16" TEMP. GLASS = e
of .2
5/16" AR SPACE 5/16" AR SPACE 5/16” AR SPACE =1s o3
» . . , ) ) SIZ85
174" TEMP. GLASS 1/4” HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS 25588
w .090" Interlayer .090" Interlayer w8
5/16" AR SPACE Saflex Clear And Color Glass Saflex Clear And Color Glass ZlET= S
1/4” HEAT STREN’D. GLASS .090" Interlayer g)}/? "Eastman Chemical Co.’ B)FIQ 'Eastman Chemical Co.’ & d = - &
SentryGlas = © 9 9
By ‘Kuraray America, Inc.’ .090" Interlayer .090” Interlayer % ﬂD) o) % °°.
035" Interlayer OR SentryGlas SentryGlas SIER=p
SentryGlas ) ) 075" Interlayer By ‘Kuraray America, Inc.’ By ‘Kuraray America, inc.’ =
By ‘Kuraray America, Inc. Saflex CP With PET Core OR OR ™
By 'Eastman Chemical Co.’ .075" Interlayer .075”" Interlayer
" REN'D. GLASS Y Saflex CP With PET Core Saflex CP With PET Core
1/4” HEAT STREND. By ’Eastman Chemical Co.’ By 'Eastman Chemical Co.’
% w 1/4" HEAT STREN'D. GLASS 1/4” HEAT STREN’D. GLASS 1/4" HEAT STREN'D. GLASS
= (20 Q o o
z 21 c I (20 I (20 R SILICONE S
=3 T~ @ 21 B - B DOWSIL 995 =
w3 Con WM =g Sy 2y >
151 (1 = T ~ ~ i
> Nl iI‘ N A7 L A R AN kS @ e N kS e o N 23 2
1 N I \ N Il \ N [N 5
TR I N S , i
7 B"I A > iREIE 17 FRE| 18 o ~
{ il / BH i I \ 1 g“ il \ 7 B" I ) 19 -
z | | it \ | i \ ( e i .
= \ / [ 1iinE | : : j 1 ) . o
© 5]
& o | e | x | Do
SEEEN 25 2\ / 2\ / 2\ / S
Ll / L L ] 22
- S N\ 25 >SN 25 5 N\ 25 =
ALUMINUM —— & e A e W v R
SPACER v -
GLASS TYPE Ci ALUMINUM - — ALUMINUM —— ALUMINUM —— &g
1=1/16" OVERALL INSUL. LAM. GLASS SPACER  GIASS TYPE ‘Di’ SPACER  GLASS TYPE ‘Dij’ SPACER  GLASS TYPE ‘D2i’ YR
1-1/16" OVERALL INSUL. LAM. GLASS 1-1/16" OVERALL INSUL. LAM. GLASS 1-1/16" OVERALL INSUL. LAM. GLASS © r«') s || B
RN
IEERE
GLAZING DETAILS GLAZING DETAILS X i drawing _ no.
[ try? N RNy 4
LEVEL C IMPACT LEVEL D IMPACT ) \@@g.{?.ENS.‘:G_.;‘\(‘g\if 19—-92T
NI




3/4” MIN. TYP.

e
WV |7
=
il
1/4" HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS 1/4” HEAT STREN'D. GLASS m g
|
.180" Interlayer .180" Interlayer 177" Interlayer 4 < e 2
SentryGlas SentryGlas Saflex CP With PET Core 0 . iR v
By ‘Kuraray America, Inc.’ By ‘Kuraray America, Inc.’ By 'Eastman Chemical Co.’ ; E ® g z
€z 344
» . " , . Nz
1/4” HEAT STREN'D. GLASS 1/4" HEAT STREN’D. GLASS 1/4" HEAT STREN'D. GLASS % 9 ol 8 8
R B
o Q SILICONE Lo %
£ (20 FlE (208 2= DOWSIL 995 gak &
© 21 z|® z Ccap
2 m =y =y 03245
3 | i/ Y3 L 13 N obsh .
‘ 17 > > ; Qaaogd
mh ; dF29
il \ f al: @ Qg 3
NE \ | / dE | 229w
{ « How i
% | g ! g =l ) WE2s
z \ / AN g\ / ul 30T
P
= = g\ 20z o
SN 25 SN & gios ¥
[ N % [ N i N ) S,
- N - t L = ¢ ’ ;
GLASS TYPE '‘E GIASS TYPE E1l GLASS TYPE EZ2 5 o
11/16” OVERALL LAM. GLASS 11/16" OVERALL LAM. GLASS 11/16" OVERALL LAM. GLASS o ®
o =
o >
o 9]
e :
= =
% =z x
= o
o -2
ol &
=
o)
2o g3
3/16" TEMP. GLASS 3/16" TEMP. GLASS % Z O:"Lg 5
5/16” AIR SPACE 5/16" AIR SPACE < W & < “i‘
. : . : | ESS 8
1/4” HEAT STREN'D. GLASS 1/4" HEAT STREN'D. GLASS E 73 = 0?
Siw 58
.180" Interlayer 177" Interlayer S ut.% X @
SentryGlas Saflex CP With PET Core Sll2 99 5
By ‘Kuraray America, Inc.’ By 'Eastman Chemical Co.’ S||Fm=E e
-
1/4" HEAT STREN'D. GLASS 1/4" HEAT STREN'D. GLASS
o o SILICONE
= | @ e @ DOWSIL 995
S |0 ~|®@
=3 S c
.k -2 1N H BVARN 23 £
< <~ a
J |6 ~|© i I‘i ‘l\ -
i ™M I o
/ | 11] ‘l‘ \ 0
1 7 K ik 19 [
1 R \ o
? | ' N
| Lo
« e\ g
T @\ / 2l
& e o5
< SN 25 el
() L \ / ';
L o g )
ALUMINUM ALUMINUM — =
SPACER  GLASS TYPE ‘E1ji’ SPACER  GLASS TYPE ‘E2i’ o
1-3/16" OVERALL INSUL. LAM. GLASS 1-3/16" OVERALL INSUL. LAM. GLASS é o
o |l &
RIS o
sl 3
GLAZING DETAILS 7 gl o]«
ty? ’ N © I3 5 S
LEVEL ‘E’ IMPACT W £ £ |[Groving no. )
(N L
ot 87 | 19-92T
RS2
12/17/2020 \\\\Q\NA\‘:\‘,,‘?‘ Shest 4 of 15




(NL-126-61\INV—dWN0D

o)
)

8L69-T9T (SOE) 'Xv4 OOT8-v9C (S0E) 1L
(8858 "N'V'D) €LTEE VAIHOTL ‘TAVIIA
02T 3LINS ‘IAIMA LASNNS 09€6
ANIZWHOTIAIA LONAOHC ® SHIANIONI

‘Xp4 £227—998—-008 'I°1

PYGEY N 4SX|DM

9 2UNS “M'N "4Q 9bpry oM 9G0¢

"ONI 31n3gant

e

NOILYVHOdH0D DOOUVHA-TIV

)
f

uondiiosap

Aq | s1op jou

TINT) M00a ONIMSLNO WNNIWNTY é@zm}:zo_zwﬁ

:SUOISIAGY)

61-22—-80 :s0p

sheet 5§ of 15

S3ION
YOHONY 33S
SWIHS "XV

.8/¢ ¥0 ¥/

0997

EDGE DIST.

g

)

SEE ELEVS.
FOR SPACING

Le

2

\
.

TYPICAL ANCHORS

CONCRETE

“fe 3 KSI MIN..

1HOIFIH JWVYd

S3ION
JOHONY 33S

SWIHS "XV
L.8/¢ ¥0 v/1

9998

<

-

KSI -MIN.

.~ CONCREZE .
:“,‘3‘q

TYPICAL ANCHORS
4

SEE ELEVS.
FOR SPACING

A

T

!

EDGE DIST.

B P =

" '0d0 1'd

1HOIEH JWvdd

S310N
JOHONV 33S

SWIHS "XVYW
.8/¢ ¥0 ¥/

5 996

.(!

24

0do T

g
/
1

q

O

. CONCREZE
KSI MIN.

3,

TYPICAL ANCHORS

SEE ELEVS.
FOR SPACING

|

<

-w
. . <
9 v
. <
TYPICAL ANCHORS
SEE ELEVS.

TS

<

:
'o
b

&
&
\\

Y

Sy
\‘\9\,\\’.&\_

\

12/17/2020

FOR SPACING

<

v

EDGE DIST.

JOIdHLXH

940 "1'd

S

CONCREFE . -
v.3D00 PS4 MIN.

<

1HOEH 4v3T

1HOI3H "ONdO d00d

1HOIFH 3NVd4

<

EDGE DIST.




TYPICAL ANCHORS

SEE ELEVS.
FOR SPACING

EDGE DIST.

1BY

WOOD BUCKS

a4

e

o

EXT. .' |
’jﬁ o)

WOOD BUCKS AND METAL STRUCTURE NOT BY ‘TUBELITE INC.’

MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM
AND TRANSFER THEM TO THE BUILDING STRUCTURE.

TYPICAL ANCHORS: SEc ELEV. FOR SPACING

1/4” DIA. TAPCON BY °‘ITW' (Fu=125 KSI, Fy=100 KSI)
(1/4” MAX. SHIMS)

1/4" DIA. ULTRACON+ BY ‘DEWALT’ (Fu=164 KSI, Fy=148 KSI)
(3/8” MAX. SHIMS)

INTO 2BY WOOD BUCKS OR WOOD STRUCTURES

1—1/2" MIN. PENETRATION INTO WOOD (HEAD/JAMBS)

THRU 1BY BUCKS INTO CONC. OR MASONRY
1-1/4” MIN. EMBED INTO CONCRETE (HEAD/JAMBS)
1=1/4” MIN. EMBED INTO MASONRY (JAMBS)

DIRECTLY INTO CONCRETE OR MASONRY
1—1/4” MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)
1—1/4” MIN. EMBED INTO MASONRY (JAMBS)

1/4” DIA. TEKS OR SELF DRILLING SCREWS (GRADE 5 CRS)

(3/8” MAX. SHIMS)

INTO MULLIONS (DESIGNED BY OTHERS)

OR

INTO 18 GA. METAL STUDS (Fy = 33 KSI MIN.)
OR

INTO METAL STRUCTURES (HEAD/SILL/JAMBS)
ALUMINUM: 1/8” THK. MIN. (6063—T5 MIN.)

STEEL: 1/8” THK. MIN. (Fy = 36 KSI MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TYPICAL EDGE DISTANCE

INTO CONCRETE AND MASONRY = 2-1/2" MIN.
INTO WOOD STRUCTURE = 1" MIN.

INTO METAL STRUCTURE = 1/2" MIN.

WOOD AT HEAD OR JAMBS SG = 0.55 MIN.

CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PSI MIN.

1/4” OR 3/8"
MAX. SHIMS
SEE ANCHOR

NOTES

TYPICAL ANCHORS

SEE ELEVS.
FOR SPACING

EDGE )8/

EXT.

S
2BY WooD BYCK
L oR

1/4" OR 3/8"
MAX. SHIMS
SEE ANCHOR

NOTES

TYPICAL ANCHORS

SEE ELEVS.
FOR SPACING METAL
STRUCTURES
EDGE DIST. 1/8" THK.
E / ﬁ !
):@) T |

©

EXT.

Lo §

[(9)

3/8" MAX.
SHIM

TYPICAL ANCHORS
SEE ELEVS.
FOR SPACING

12/17/2020

f
C

COMP—ANL\ 19-92T~TLI)

a

(C.A.N. 3538)

FAX. (308) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

, Suite G 1
(

N.W.

Fox.

INC.
3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800—866~2227

TUBELITE

[ MONUMENTAL ALUMINUM OUTSWING DOOR (LM.1))[ AL-FAROOQ CORPORATION

by [description

(revisions:
nol date

e

08-22~19

)
~
Le)
P
<3
o
@

dr. by: TARIQ

date:
chk. by:

. Y
drawing no.

19-92T




TYPICAL ANCHORS

®

TYPICAL ANCHORS
SEE ELEVS.
FOR SPACING

SEE ANCHOR

1/4” OR 3/8”
MAX. SHIMS

e

NOTES

TYPICAL ANCHORS
SEE ELEVS.
FOR SPACING

NN ENENC
FOR SPACING
| ACTIVE LEAF
% 1 A e \
(=] = \
g — N2 ]
[©]
5 g —{ .
——7—is B \ ﬁ@\\
—IH = T — £h
< M L—————_.—__L — | ! Gl _g
S D METAL L% it =)
3 STRUCTURE ~ E=== CALL e
9 /E (SEE SPEC) Ea—x ! )
g @ — [
; O @‘ e : 3‘ T
3‘3&:8 ﬁ\'::. = 1 ] 5
NO= 1 T | X
@ ® &/
D.L.O. gt e
1BY
LEAF WIDTH WOOD BUCK
1/4" OR 3/8" ”
MAX. SHIMS SINGLE DOOR FRAME WIDTH 3/8" MAX.
SEE ANCHOR k SHIMS
NOTES HINGES LOCK OPTIONS
SEE SHEET 9 SEE SHEETS
10 & 11
TYPICAL ANCHORS
SEE ELEVS.
TFOR SPACING
TYPICAL ANCHORS (T
@ SEE ELEVS. S
@ LOCK OPTIONS e FOR SPACING o <
SEE SHEETS o

= INACTIVE LEAF 10 & 11 ACTIVE LEAF N

5 \ / N

Lt \ [ {

8 / e &

=S Y /

7 ] |
‘/ 'f \ <« ¥
/ ,! ,/ gy MDY
juii - T -
‘ L 1 T L I == S J:J o <
2%\ T <. 1
—_— —— T
R . :.vg_ ] \’\ — o = v g
C g e T = i 5 <
'z - \= &V ) &
E?Q = \\ . I | T B
o= - e
Z Q- v
Q.. .
O QOv. |- K .
e e@ D.LO. K EXTERIOR —
i LEAF WIDTH LEAF WIDTH 1/4” OR 3/8"
1BY '

1/4” OR 3/8" WOOD BUCK — MAX. SHIMS
MAX. SHIMS DOUBLE DOOR FRAME WIDTH SEE A$CHOR
SEE ANCHOR NOTES

NOTES HINGES
SEE SHEET 9

4% o e 5
l‘"%...' 137768 _-Zé/r’f
‘. Q(\. ¥ o R 4
W o {/ceEnsED. 4

121172020 WS/ONAL B
SN

\\ SN S

f
C

COMP—ANL\19-92T—TLI)

a

(C.A.N. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-81.00

N.W., Suite G }
(

Fax

INC.
3056 Walker Ridge Dr.

Walker, Ml 49544
800—866-2227

Tel.

TUBELITE

J[ MONUMENTAL ALUMINUM OUTSWING DOOR (LM..)}[ AL-FAROOQ CORPORATION

by [description

(revisions:
nol date

08~-22-19

|

<4
e
=
ES
a
[
©

©
~
Lel
B
[}
o
@

date:
chk. by:

(LT
drawing no.

19-92T7




VON DUPRIN #KR9954 OR 9954
REMOVABLE MULLION

OPTIONAL

SEE DETAIL AT RIGHT

\

T:@j //
I
1|‘[ lll
[l

;/
15

LEAF WIDTH

LEAF WIDTH

(4) 1/4" X 1-1/4" FH MS

TOP FITTING

VON DUPRIN #KR9954
REMOVABLE MULLION

OPTIONAL

(USE ONLY WITH RIM EXIT DEVICE)

STRIKEPLATE 1
#229

-

S

5/16" DIA. THRU BOLT
W/ WASHER & NUT

(4) 1/4" DIA.
TAPCON/ULTRACON

1-3/4" MIN. CONC. EMBED
AT 3" 0.C. MIN.

BOTTOM FITTING

f
C

COMP—ANL\19-92T—TLI )

a

—
4 5] g
e}

Cr 3¢
EE .4
gz 3O
L g
mgoic
Ohug e
Loy X%
Fgor uw
3
Ocao
0244
pud
623
OEE® g
oog «
oL 2
nng ©
R
D‘%a.:g
T S0 0
4885
€ Los
— AN—
=
= o
[ng ()
S =
(@] 3
a %)
124 v
Z| =
2] I
> .2
Sl 5
=1 )
Zlo=3
SIZxou R
= Y
w2 _ 4
2 E5S8
Zid= -

W~ s9
= © T S
SIMRx®
ZDOO_:
QlFm=E e
_

<

o

-

=

[,

(@]

[43]

(O]

o

>

o)
'’
cCio
Olo
Q|o
>
[O2iRe]
e

4

08-22-19

©
N
My

K}
o
o
@

dr. by: TARIQ

date:
chk. by:

T T T
drawing no.

19—-92T
(sheet 8 o 15)




HINGE OPTIONS:
OPTION #1:

4-1/2" LONG FLUSH MOUNT STEEL BUTT HINGES
‘BB1191" BY ‘HAGER' OR

‘ABH-663" BY ‘ABH MANUFACTURING INC.’

FASTENED WITH 12-20 X 1/2" FH MACHINE SCREWS
FOUR PER HASP(LEAF).

TOP AND BOTTOM HINGES AT 5-1/2” FROM ENDS
INTERMEDIATE HINGES AT 32" 0.C. MAX.

17 X 7-3/8" X 1/4" THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2" FH MACHINE SCREWS

1
1‘§
|

N

T

¥

OPTION #2:

CONTINUOUS GEAR ALUMINUM ROTON HINGE

‘SL 11HD’ BY ‘SELECT

‘780" BY ‘HAGER’

‘KCFM—95HD1" BY 'PEMKO’

‘A110HD’ BY ‘ABH’

FASTENED TO FRAME JAMB AND TO JAMB STILE WITH
#12—-24 X 7/16” FH MS SCREWS

IN PAIRS AT 27, 4” AND 6” FROM TOP AND BOTTOM ENDS
AND IN SINGLE ROW AT 10" O.C. THEREAFTER.

OPTION #3:

OFFSET PIVOT HINGES
‘P795DT/IL/DB" BY ‘TUBELITE’
‘180/M19/147" BY ‘RIXON’

TOP AND BOTTOM HINGES
FASTENED TO FRAME AND LEAF WITH
(4) 1/4-20 X 5/8” FH MACHINE SCREWS

TOP SHIM ‘C’ CHANNEL
(11/16” X 1=1/2" X 6=1/2" LONG X 1/8” FLANGE THK. X 1/4” WEB THK.)
FASTENED WITH (2) 1/4-20 X 1-1/2” FH MACHINE SCREWS

BOTTOM SHIM ‘C’ CHANNEL
(1-1/4" X 1=1/2" X 9-1/2" LONG X 1/8” FLANGE THK. X 1/4” WEB THK.)
FASTENED WITH (2) 1/4-20 X 1-1/2" FH MACHINE SCREWS

INTERMEDIATE HINGES AT 35" 0.C.
FASTENED TO FRAME AND LEAF WITH
(5) 1/4-20 X 5/8” FH MACHINE SCREWS

17 X 7-3/8" X 1/4” THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2" FH MACHINE SCREWS

'O

. S,
12/17/2020 "W,

b Qe d/CENS
/0
NS

f
C

COMP—ANL\ 19-92T~TLI)

a

(C.A.N. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
800-866-2227

TUBELITE

Tel.

J{ MONUMENTAL ALUMINUM OUTSWING DOOR (LML) [ AL-FAROOQ CORPORATION

by [ description

no| date

(revisions:

08-22-19

<
4
<
=
=
a
“
°

date:
scale: —
chk. by:

(T T
drawing no.

19—-92T




LOCK OPTIONS:

3 _POINT LOCK

MAX. LEAF HEIGHT = 96 IN. MAX. LEAF HEIGHT = 108 IN.
MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 37-1/2 IN.
MAX. DESIGN LOAD = 70 PSF MAX. DESIGN LOAD = 66 PSF
ACTIVE LEAF:

KEY OPERATED THREE POINT LOCK SYSTEM

‘MS1853A/4015/4016" AND ‘MS1850S/4015/4016" BY 'ADAMS RITE’
WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE AND A THUMB TURN ON THE

INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL

FASTENED WITH

(2) #12-24 X 1/2” FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM
‘MS1881' AND ‘MS2180' BY ‘ADAMS RITE’

WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #8-32 X 1/4” PH MACHINE SCREWS

o i1
/| /N
/| AN
/ | / : : AN
O | e I BEAN
,/;, | <4 ih 7
77 | i
! i
N\ _é AN ﬁé_ /
N N\ /
N N 1
N Nl
AcTvE \| | inactive \| |||/ active
_ A/
BOLT GUIDE]
AR 40186
AR 1850
DEAD BOLT

®

%
ADAMS RITE ADAMS RITE BOLT GU)DE//$N

2 POINT 3 _POINT
LOCK LOCK

LOCK OPTIONS:

RIM PANIC EXIT DEVICES

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 42 IN.
MAX. DESIGN LOAD = 50 PSF

ACTIVE LEAF:

RIM PANIC EXIT DEVICE
‘98/99XP’ BY ‘VON DUPRIN’
‘33A/35A" BY 'VON DUPRIN’
‘FL3790° BY ‘FIRST CHOICE’

‘WS AD8500’ BY ‘SARGENT'

LOCATED AT 40” FROM BOTTOM
FASTENED TO ACTIVE LEAF WITH WITH
(6) 10-24 X 1-1/8" PH MS

/ 1 HIN
/ / AN
/ / AN
/ /s o\
/o /7 7N\
] I\ “““““ @ a2 é _____ va s e é o
N N
AN N /
AN AN /
ACTVE N\ actve N | |/ active
REMOVABLE
MULLION

‘KR9954’ OR ‘9954’
BY ‘VON DUPRIN’

f
C

COMP—ANL\19-92T—TLI)

a

(C.A.N. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800—866-2227

TUBELITE

J[ MONUMENTAL ALUMINUM OUTSWING DOOR (LM..))[ AL-FAROOQ CORPORATION

by [description

(revisions:
nol| date

08-22~19

o
x
<
=
>
a
o
©

date:
scale:
chk. by:

——a
drawing no.

19-92T




LOCK OPTIONS:

CVR PANIC EXIT DEVICES
OPTION #1:

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF
ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE
‘#2086’ BY ‘JACKSON PANIC SYSTEM’

‘3690FL’ BY ‘FIRST CHOICE’

LOCATED AT 41” FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #14 X 1” HH SELF DRILLING SCREW AT ONE END AND
(2) #12-24 X 1/2” OH MACHINE SCREWS AT OTHER END

A N
/N VAR HH AN
/ | / ! AN
/ i R 1111 IO
i 272 1 AN
v | It
ol il
\\ iiiiii o1 mibwetbuiiusibnaiont {11 ] | 11| i———— é]ﬂ
Pt [Pt
N N
N A ] 4
actve \|I| macive N[ |11/ active

OPTION #2:
PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF
ACTIVE & INACTIVE LEAF;

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

'HH9947" BY 'VON DUPRIN’

LOCATED AT 40" FROM SILL AT EACH LEAF.

FASTENED WITH

(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2” FH MACHINE SCREWS AT OTHER END

FM i
/sl ZIHN
/i 2 I
/ | / i AN
/ | /L ] PN
> | /L ik AN
7z ' i /
o il
AN— NN 1 1 — An
EI”\"‘"”’”@ Y"""@%'"""?
N N 11
N AN 1] 4
ACTVE \ : INACTIVE "\ } E /' ACTIVE

OPTION #3:

PANIC EXIT DEVICE PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN. MAX. LEAF HEIGHT
MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH =
MAX. DESIGN LOAD = 70 PSF MAX. DESIGN LOAD
ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

‘1690HH" BY ‘FALCON'

LOCATED AT 41” FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #14 X 17 HH SELF DRILLING SCREW AT ONE END AND
(2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END

= 108 IN.
37-1/2 IN.
= 66 PSF

137768

5%
o®
® 0
o ® .
@ 0
2 0}
®
% .
Iy
°
®
3
sessecserersesod ooo«o.os.‘g
s
.

f
C

COMP—ANL\19-92T-TLI )

a

(C.A.N. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 331473
TEL. (305) 264-8100

N.W., Suite G ]
(

Fax

INC.
3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800—866-2227

TUBELITE

J( MONUMENTAL ALUMINUM OUTSWING DOOR (LM.1)][ AL-FAROOQ CORPORATION

by [description

no| date

(revisions:

08-22-19

date:
scale: —

<
<
P
B
)
O
°

chk. by:

drawing no.

19—-92T




ITEM # PART # REQD. | DESCRIPTION MATERIAL | MANF./SUPPLIER/REMARKS
1 £34224 1 DOOR FRAME HEAD (STANDARD) 6063-T6 |-
1A E4TB111 1 DOOR FRAME HEAD (NARROW) 6063-T6 |-
1B E34125 1 DOOR FRAME HEAD (CONCEALED CLOSERS) 6063-T6 |-
1€ P4441 1 FRAME HEAD (CONCEALED CLOSERS) CORNER KEY 6063-T6 |-
1D E6504 1 HEAD (CONCEALED CLOSERS) DOOR STOP 6063-T6 | —
1E £2298 1 HEAD (CONCEALED CLOSERS) DOOR STOP COVER 6063-T6 | —
2 £34144 2 DOOR FRAME JAMB (STANDARD) 6063-T6 | —
2A E4TB11 2 DOOR FRAME JAMB (NARROW) 6063-T6 |-
3 E34242 2 JAMB SHEAR CLIP (STANDARD) 6063-T6 |-
4 E3550 1 THRESHOLD 6063-T6 |-
5 £3029 1/ LEAF |LEAF TOP RAIL (MEDIUM) 6063-T6 |-
5A E1051 1/ LEAF |LEAF TOP RAIL (WIDE) 6063-T6 |-
£2954 1/ LEAF |BOTTOM RAIL 6063-T6 | —
£1397 1/ LEAF |LEAF HINGE/LOCK STILE (MEDIUM) 6063-T6 | —
7A E2937 1/ LEAF |LEAF HINGE/LOCK STILE (WIDE) 6063-T6 | —
8 E3245 1/ LEAF |LEAF ALT. HINGE/LOCK STILE (MEDIUM) 6063-T6 |-
8A £3246 1/ LEAF |LEAF ALT. HINGE/LOCK STILE (WIDE) 6063-T6 | —
9 £3027 1/ LEAF |LEAF ACTIVE STILE (MEDIUM) 6063-T6 | —
9A £2938 1/ LEAF |LEAF ACTIVE STILE (WIDE) 6063-T6 |-
10 E1154 1/ LEAF |LEAF INACTIVE STILE (MEDIUM) 6063-T6 | —
10A E1155 1/ LEAF |LEAF INACTIVE STILE (WIDE) 6063-T6 |-
1 £2944 AS REQD. |MID RAIL 6063—-T6 | OPTIONAL
11A £2945 AS REQD. |MID RAIL 6063—-T6 | OPTIONAL
118 £2946 AS REQD. |MID RAIL 6063-T6 | OPTIONAL
12 E6510 AS REQD. |DOOR STOP BASE (STANDARD) 6063-T6 |-
12A E6500 AS REQD. |DOOR STOP BASE (NARROW) 6063-T6 | —
13 E6505 AS REQD. |DOOR STOP (STANDARD) 6063-T6 |-
13A £6501 AS REQD. |DOOR STOP (NARROW) 6063-T6 |-
14 £1152 AS REQD. |ASTRAGAL W'STRIP ADAPTER 6063-T6 |-
15 £6533 4/ LEAF |EXTERIOR GLASS STOP (LAM. GLASS) 6063-T6 |-
16 £6523 4/ LEAF |EXTERIOR GLASS STOP (INSUL. LAM. GLASS) 6063-T6 |-
17 £6532 4/ LEAF |INTERIOR GLASS STOP (DRY GASKET) 6063-T6 |-
18 E6512 4/ LEAF |INTERIOR GLASS STOP (GLAZING TAPE) 6063-T6 |-
19 E£6522 4/ LEAF |INTERIOR GLASS STOP (SILICONE) 6063-T6 |-
20 P2908 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL D IMPACT) EPDM -
20A P2901 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL E IMPACT) EPDM -
21 PO017 4/ LEAF |INTERIOR GLAZING GASKET EPDM -
22 3M VHB 4/ LEAF |INTERIOR GLAZING TAPE (.090” X .750") FOAM -
23 PB552 4/ LEAF |INTERIOR SPACER TAPE FOAM -
25 P1912 2/ LITE |SETTING BLOCK AT 6" FROM ENDS EPDM DUROMETER 80+5 SHORE A
26 P6296 AS REQD. |FRAME HEAD/JAMB BULB W'STRIPPING VINYL -
27 P3450 AS REQD. |FRAME SILL BULB W'STRIPPING VINYL -
28 P938 AS REQD. |ASTRAGAL PILE W'STRIPPING WOOL ULTRAFAB
29 #10 X 5/8” AS REQD. |ASTRAGAL ADAPTER FASTENERS, AT 12" O.C. ST. STEEL |FH SELF DRILLING SCREWS
30 #10 X 1/2” AS REQD. |GLASS STOP FASTENERS, AT 2” FROM ENDS & 12" O.C. ST. STEEL |FH SELF DRILLING SCREWS
31 #12 X 1-1/2" | AS REQD. |FRAME ASSEMBLY FASTENERS ST. STEEL |HH SELF DRILLING SCREWS

137768

'. ((\ Sdie NSED. X
12/17/2020 "W

"u%...n"
IONAL Css

\\\\‘.ﬁ\‘\

f
C

COMP—ANL\1 9-—92T—TLI]

a

T
-
- v
=z =8
T
a2 =g
Eooeo
Ou.ng g
Loy %
o= w
OLao
O3k
pud
283
OEE™
O&Dgﬁ
O3z 3
EP29 &
UL g
u_%’w_:o
i S0 0
4288
oo
N
=
= &)
(2t ()
S =
S 5
a %)
% :
= =
2 I
3| £ ¢
o
=1 )
2023
SIZ2xu
3=, 28
w24
SlEs=38
E-—Jg.l
W~ g
= © 9 2
gmmxﬂo
DOE_'
QF™= &
—
s
o
=
Q
[ -
(8]
w
(]
o
>
Tol
y
ci
Olo
ks
>
[OiKe]
e

I

08-22-19

©
~
D)
P
o
o
@

dr. by: TARIQ

date:

drawing no.

19—-92T

sheet 12 of 15

chk. by:




4.985

2.500

L

.080
TYP.

1 .QQZJ 1.000 L—

@ FRAME HEAD (STANDARD)

4.500
125
.750 5 é % L 5 '
<>—1.625~t>! 1.250 L

@ FRAME HEAD (NARROW)

5.000

2.500

i

@FR

125 TYP.J

AME HEAD (CON. CLOSERS)

@ HEAD (CONC. CL.) CORNER KEY

@ DOOR STOP

-

-—l{

1.356

.OQS'JA

@ DOOR STOP COVER

T;Z,BOOW-—*>
[S_____‘

~—.125
!
5.000 1.000
.090 —={f=—
2.000
173

@ FRAME JAMB (STANDARD)

%{.750'9—

125

4.500

s

1.625

@ FRAME JAMB (NARROW)

4.1

=—1.625

—={=—.080
70  .660
1.755

©)

JAMB SHEAR CLIP

2.581

m .481 075 1974 060 —==— 1,750 1.305 062~ 1
.ZSOF 110 | J LH
L ”] L 224
‘ 4.969 242 —=| 476
@ FRAME SILL @DOOR STOP BASE (STANDARD) @ DOOR STOP (STANDARD) @DOOR STOP BASE (NARROW) @ DOOR STOP (NARROW)

435 —=

r

~497—<>l =

.707»‘

5004@1 p—

—= rﬁ.GM

-
—= 125

1.250
—= .774L

EXTERIOR GLASS STOP
@ (LAM. GLASS)

.1854*>I
125

379 Il
T

INTERIOR GLASS STOP
@ (DRY GASKET) 18

=—1.632 —=

= 1.250

F=—1.632 —=

= ‘195%7 =

EQ

1.250

INTERIOR GLASS STOP
(GLAZING TAPE)

.160—‘>H<H
7

1.250
379
<—1.632<>]
INTERIOR GLASS STOP
(SILICONE)

1.250 OhZS
i
«J.7741<r

EXTERIOR GLASS STOP
@ (INSUL. LAM. GLASS)

f
C

(CA.N. 3538)
COMP—ANL\ 19-92T~TLI)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMIL, FLORIDA 33173
TEL. (305) 264-8100

, Suite G I
(

N.W.

Fax.

INC.
3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800-866-2227

) MONUMENTAL ALUMINUM OUTSWING DOOR (LM.))[ AL-FAROOQ CORPORATION a
TUBELITE

by [description

(revisions:
no| date

08-22-19
= 1"

2
o4}
~
M

3
[+]
O
a

dr. by: TARIQ

chk. by:

date:

— e e
drawing no.

19-92T




)
=—2.000 —= [ 4.377 [ 5.877 I<~2.000—> f=— 2.000 —=4 ku r—‘:
e . 187 5
2.000 —= {187 F 2 5T T2 S m g‘
[ — 250 ? ! / | 4 @@ ;
~—.250 2.000 2.000 Or 33|3
187 —= foe ; E ) g <'(
C ) o < 358
: 4.500 4.188 ‘ Eoo5 23
4.500 { ’ | ODa " ¢|°
: 6.000 ; §
} 4.502 6.002 o 5 o ¥
2.937 gor =&
187 —= ' 4.437 0530
187 - | @ HINGE /LOCK STILE (MEDIUM) (%) HINGE /LOCK STILE (WIDE) - 02y
. s = (o "] 28 o
xx
— ‘ ' 4403 ‘ 5 903 10.000 9.314 || © g Eg §
e — ' ‘ » MID RAIL 0%LE
.187 .187 1)) ©
— L r I Q) 5 222 8
~ 5]
t ? i =—2.000 Lz%28
@ TOP RAIL (MEDIUM) @ TOP RAIL (WIDE) HT J63%
2.000 2.000 T 2z03¢
T [—F] 7 ] 7 l =
J 269 \ =
I« 4.094 5.594 = &
A87 —= = % i)
1.460 @ ALT. HINGE/LOCK STILE (MEDIUM) @ ALT. HINGE/LOCK STILE (WIDE) | — | R 2
.085 6.000 5.688 o R
z =
4.500 6.000 { = Z
2 %
187 = | {.187 €4187 ’ 118 MID RAIL g - R
()
8.438 14) ASTRAGAL W'STRIP ADAPTER 7 7 N = o
= s O«
2.000 2.000 LI S99«
10.000 1 Ls ] % Zxw g
= L3 o
) ! S e
<C 5= @
4.344 5.844 MID RAIL = 2=
s|Wo58
L h
@ ACTIVE STILE (MEDIUM) @ ACTIVE STILE (WIDE) SIRP32 s
— 4.464—] 5.945 M
187 .187
{ {
.000 2.000
L~1.938v>§ 2 <
N )} 0 7 s
@ BOTTOM RAIL 5
4.055 5.555 s
B
@ INACTIVE STILE (MEDIUM) @ INACTIVE STILE (WIDE) .
slg
Rixe)
>
[OhiKe]
e J
e }
& o
g o
o |l &
SHRP
s || 88|70
=1 [+] . ~
$l8lls)s
) o . drawing no.
"ileanse S (| 19-92T
NP O
12/17/2020 “WQNAL &= sheet 14 07 15




(N1~126-61\INV—dWNOD

RE £222-998-008 ‘I18L Fw
8L69-292 (S0E) "Xvd 00T8-+9Z (S0E) 13l YHS6T N 49 |PM S
o (8gsg "N'VI) €LTEE VAIHOT4 TAVIN 9 9}NS “M'N Jg obpiy J48OM 9G0% 0
0ZZ ALNS ‘IAIA LISNNS 09E6 . -
.& ANFNDOTIATA LONAOHd 8 SHIAIANIODNI ONI_3inddnt uonduossp | Aq | s1pop [ou w
m NOILYVHOJHOD DOOUVYH-IVY T._.E.d 4000 ONIMSINO WNNINNTY ,_ﬁz%:zo_\:m 'SUOISINGY)| 672780 ewop 5
W
b
O\
...\0...
A
o)
: zi%7
: 9i0Z
g o
. X A2V
AN 7 g N B
x© - : 4
L = < .i ¥ )i pRYSFS
= [ N =~
% A\ D NS S
o o o -—
o [~ N
N, . >
= -
v ©
qu 8
pd (m O
<
s = =
5 <
i &
.
>
>
~
>
Ay
—
xX O
=z
u2A
~N=
3
K\
Ive
1%
O
Ap\ll N /, n
Z
— = Z
W - e "
< e =
o \W Z
= pa -3 e
% oz <+ &
5 <
& 5
= 3
e
14 w
b
g z
& g ® °
n/// [a 8 n/ // =
/@ﬂnﬂu m /wﬂ,;lﬂu
7 7/ /
N /& / AN =
LY LS| -
1% 35
Ta 85 i 355
o T .z 22
S Eg ST B8
| & | |
— o Al o
< F «E AR\ VAN
vk vk
|

1






